BAEBAUAANT AT CHEHEK

I
_RIEGL VUX-100*

o AP ESMEFIE
1,500 kHz

- WEEEFIL 1,333,333

BRI

AR 5k 200 %/

« XITRAPSERE 360 m

- iAmEIL 160°

BNEE (2.36 kg)

o $EE RIEGL Myt A :

- HEF L ER

- & BARER I BE

- BT

- ZIRRBEZBA

- REEE, AAFEAN

FaFMEM/NETAL

* 5 INS/GNSS 3t#EAIH1H

#0

- ARZ 2 AHENERED

- NEESEZGFH

- Ak CFAST® g+

LtHREHREREERAAE

www.fs3s.com

RIEGL VUX-100* RZE & Fig &M, BF
mix 160 EM#MAA K EIE 1500 kHz HpkFES

BAREBAAGA, ZBCAFHMNERE LA
EEE, LHEAERE RPN ERIEN
e R B A o

ZHWIAE 2 B ESERZF—1 Cfost &, BBER
RF4ME IMU/GNSS )i OFEN (REMWE) #0.

715 K ERSMEIRITHES RIEGL VUX-100” BEAER % 7E
A DEFACITE (PLWmEEN)  XEERRE
EANE. ATHBENAPHARETR, RIBEREMHS
IR RIHE T IR AR, iR HEE S TIMU/GNSSR L5
B (FTiE) 7R AIE RN -

[N F 4 :

- ERiEN L :
A%k, SRIREIE.
BRI E

- BEXRTHMENE

- WHFRENE

o ZHIILIEZRIP

o Al & Bl

'J ’LASER MEASUREMENT SYSTEMS

i ABEIAEES, WAL R E A



RIEGL VUX®-100% B AIE & SZE

PRR = 500 kHz

220.0 4.4
210.0 —ee AR CITHE HE 46
1000 — @ A& 23 km 420 1390 200.0 > " 90 m 310m 48
— @A RE 15km 1000 oz £ 110m 380m s1
— @A ILEE 8 km - . P :
900 380 1250 180.0 40/m 4801m 53
170 m 590 m
170.0 5.6
210m 730 m
800 340 1110 160.0 6.0
150.0 64
700 300,5 0 = “"E 140.0 69 S
= = - B 1300 7.4 §
= 600 250 B Laz0 & o 27
- = £ 1200 80 4y
= i > 1100 — AN 8.7
= 3 4 & - - AHHETHL )
R s00 210 @ (690 @ 3 1000 96 3E
M h e 0 [ed
i3 find ~ 5 90.0 +o
400 170 2 fsso B 800 ="
g g x|
X 700
300 ® 18 130 420 60.0
P4 h - 50.0
B 4 = :
200, _ R @ @ frso 280 40.0
= B ma b 4 t+ o @ 300
oo K H iy % R ~1 ’
001 | K E & = 2 5 & g 4o 140 200
T & = H & ] fr 10.0
ol K BT IR B E M = e K o 00
0 10 20 30 40 60 70 80 90 ’ 80 1
Eh‘fi%‘l$ [%] L [kn]

TRl S ERE LT HME: FOV100°; #EHEZH MTA L3E; &P VUX-100” E# % 5t 500,000 Bk, #EEER 100%
MERENS; BRSNS > B, #RaFaEd £5° X XITEE 700 ft, i®E 60 kn; MR: AZELH 14.6 pts/m’

PRR = 1000 kHz

650.0 3.0
750 320 1040 Fre— =
— @AWE 23 km oo ATt % .
700 — @RIE 15 km 300 970 - o u s0m 210m
— @WK 8 km S £ 80m 280m
650 270 900 550.0 90m 310m 35
600 250 830 5000 120m 420 m ie
150 m 520 m
550 230 760
500 210 2 1690 = ‘E o : o 3
£ &
e £ v, > 400.0 a8 E
£, 450 [ 190 #y | 620 # oY =,
ol — 132
l": 400 170 {EE 550 g i 3500 — ENHHE >3 {g
= = i 45) E
K 350 150 & [ 400 ¥ EE 300.0 - - ENHTHS 64
g [ s = by
300 130 90 1420 . 250.0 b=y
/ s - X
250 X 110 350
200.0
200 § m “;f 80 280
i 4 V(= 150.0
150 4— 8 . 7 @@ e 210
"
1004 W ® K ﬁ_ﬁ % E i—\ oo 20 140 100.0
B HE E o ) % |
R i S SR I b - N e 200
o XM E R B = g K o
0 10 20 30 40 50 60 70 80 90 0.0 P
R 3% [% .
BiRRETE [%] S (k]

TR S EHE LT FOV100°; #MEZE MIA 43E; APl VUX-100” &7 % 51 1,000,000 Bk, $taEE 100%
MEREWS; BiRR > $Meh; #RAFET £5° HHXT RITHEE 500 ft, #EE 30 kn; MR SEEL 81.8 pts/m”

PRR = 1500 kHz

650 270 900

950.0 3.0
e, ERRITEE BE
600 - 1AL — @ ATLEE 23 km 250 f830 900.0 u s0m 210m 32
— @ARE 15km Fov 120" "
850.0 ovzer & 80m 280 m 34
550 — @A ALE 8 km 230 760 \ 5
. 90m 310m 36
w00 0 leso 500 110m 380 m 18
120m 420m
700.0 4.1
450 19 620

— 650.0 4.4

— 400 170 £ 550 & S 6000 48
£ 2 ] 8 ss00 ||| 52
1y 350 150 i [ 490 g i sono |||, s
/ i a0 @ {33 50,0 J\\\ &
/

130 w 6.4
¢
lla} jlad = 400.0
11015 1350 @
Bf 3500

80 280 300.0

72
8.2

X 354350 2 [km'/h]

9.6

i E)\‘I’E

i 60 210 2500 s

"*‘li @ @ 200.0 144

H N - {40 140 150.0 19.2

b F & £ 1 1000 288

£ H & 1 fir B * 70 50.0 507t 55 =5 ==l 576

woE W E g R |, . - FFFF q00 e ERE] O
30 a0 50 . 60 70 80 2 00 60 80 100 120 140 160

BARR AT [%] R [kn]

KATEN S EHE LT &M FOV100°; #EHEZH MIA 43E; APl VUX-100” &7 %5t 1,500,000 Bk, #taER 100%
MRREMS; BRRS = 8otk #WRAFEd £5° T RATREL 400 ft, HE 30kn; HR: AEELY 153.4 pts/m’

E AMEARES, WAL R A,



RIEGL VUX-100% J¢c A8 5 e #1%
ﬁﬁﬂﬁ%ﬁ (Connection Box)

R

;

=T
<
]
.29 | 385
BEMRE UENES
A 117 _ -
co@liflEafRettat 213,27
L] | i | i
; e
|
!
<
o
1
CFast® k& &
L 95 -
4%, M4 x 0.7 - 6H \
& 6 mm e
——
i =
o
(o)}

E AVRIAEIES, WAER LRI R R A,

AYEEHE O

242

RIEGL VUX®-100%° £ZE R ~t

Fiana

2%, M3 x 0.5-6H, i® 29 mm

A

VUX-1007

w® 10 mm

220

4%, M5 x 0.8 - 6H

140

i @ o th:\ .{ i &

Bf{I: mm



RIEGL VUX®-100”° £ Z R ~f

RIEGL VUX-100% J& A ML & S 1AL
iiﬁﬂ*% a ﬁ (Interface Box)

RALE

HtstHE O FRAE

=
E;
Y
29,385 | BEO=
EES]
* 242 )
2%, M3 x 0.5-6H, £ 9mm
13_27
S ) i
l i A Vi1 00
<
N
'
30 _  CFost® &8
3x, M3 x 0.5-6H
w6 mm = 30 [
" s 4%, M5 x 0.8 - 6H
# 10 mm SHEEAD
i ) -
(3] \
()] -}
! R 4 e -
40 140 |
BA{i: mm

i AVTEIABIEE, WA R PG R R SR A A



RIEGL VUX®-100” i A S #

AT a2 fiREB IEC 60825-1:2014 344 1 HH A=
Thg fo\lowinglclcg::e ?epsp;\/iies for instruments d;r:ivered into;;(:ee - CLASS 1
o i ] 1 0 one 10 e ‘
:mIJEEﬁIE No. 56, dated May 8, 2019.
& T,
= FHE XITHREIENE, HFhEE, £EHFREN, ELRFELIE, MIA AR
BB M ESHIE PRR” 500 kHz 1000 kHz 1500 kHz
AN EE:S 2
BARSE p = 20% 510 m 370 m 300 m
HARSE p = 60% 860 m 620 m 510 m
HARSE p > 80% 980 m 710 m 590 m
BATELENEE?®
@p = 20% 220 m 160 m 130 m
@p = 60% 360 m 260 m 220 m
g & K ERE R O 30 14 9

1) FiiE, BE(E.

2) MEREHSREEIE, ERRLRERAMNEEEEMEESETHX.

3) RAHE, RIBEASHLEN 23 28, MAREEANG, BHEMTARTBEHAREREN, EAZIMGE. NETHELS MTA BRI
4) #£130° (£65°) MiFMEENAIARIREMRAEIR; 130° ~ 160° 15 A E A HI&A NS #HEIZH 90%.

5) BRAAM 120°, REATBE £5°

6) BB R EEREL B MESHIHAE. NRBRMEEF LB, HNEESAESELEE.

/N EE

FERE"

BESEE"

AP ESHE""

BAERNEER"

R ESEE

R

B LEE

B FEBER /N mwmesmew)

7) B, RNE—THERBHNESE, 25 EE—HIENE.

8 EEME, CUEBIESTESY, EER—ENELEHR
HERH AR

H IR

HELH

HAEE

IAM )

HEEE )

AESH AY =i, weswmnE)

RAES IR

EEZEEREE)

HEEO

RE. FEiEmH &
ShNEREERE

GNSS #0O

WA 10 & 54
HIEO wrzen
HED @oswerzn) @
IMU #£0 (1)

FEsH

WNBE / hE
FERT (KXZEXS)

£

BE

PP & 2%
BRR®ITEK (TIE/ FH)
mfESEE

12) AE S {ERUR TiEFR PRR

13) RAAES H#Z R KRR E
14) 1x, B ENEEEOER

E AMECARIES, WAL R R A

5m

10 mm

5 mm

Bi% 1500 kHz

Bi% 1,333,333 &/# (@ 1500 kHz PRR & 160° 3 AE)
BIEFEEE 16 iGN EEERER

iEZL5h

0.4 mrad "’

40 mm @ 100 m, 200 mm @ 500 m, 400 mm @ 1000 m

9) 1sigma @ 150 m, 7 RIEGL MK &M T .
10) AT A P
1) 3R A1/ BTN E. 0.4 mrad 184 FIERGHEAN 100 m, HERAZHM 40 mm,

HEFe 1R 5

FATEAM

+80° = 160°

50 - 200 /%

0.006° < A9 < 0.24° ™"
0.001°

AER RS

2x LAN 10/100/1000 Mb/s'®"®

1T RS232 #0; TIL#A, BT 1 PPS &Rk,
EZTEKRIA GNSS FHEs 2

I TILEAN, 1X TILi#HE, 1X iIZFEF/X

2x BiR (RK1.2A) , %, BBX, GNSSRS-232Tx, PPS
1X fil & FNRR K

IMU ##E, HBiE

11-34VDC/ BEIH 45 W

242 x 117 x 124 mm (##EOE)

225 x 117 x 124 mm (ZEOE)

#236kg (FEOR)

52X 80%, k4 @31°C

IP64, FhLERETRTEIK

#34k 5,600 m (18,500 ft)

-10 °C ~ +40 °C (k) /-20 °C ~ +50 °C (#f%)

15) 1x, @dEO=E
16) B ERRER (BE—MENHR)



RIEGL VUX®-100* iR S (%)

IR
A B HIEFE E7sfE#, 2718
FhEF1E FF CFAST®” T+, 480 GB (A F%%4 1 TB)
5ME IMU & GNSS (7T k) RIEGLRILOC-F  Applanix APX-20 UAV®  Applanix AP+50%%
IMU $5/E2
R, R - 0.015° 0.005°
fintm - 0.035° 0.010°
IMU SEHE55 2 3% 700 Hz 200 Hz 200 Hz
NETEE 0.02-0.03 m 0.02-0.05m 0.02-0.05m
RHELEE 50 2.7 kg 3.0 kg 3.6 kg?
1) CFast & CompactFlash e BiEME R 4) FHEFER RISYS-CU-23 $EHFl8 T
2) ZRAERTEE 5) BEBEHE RISYS-CU-23 {48t (0.9 kg)
3) RS H IS X R F M
BE{I: mm
. 355 _
e 264 . . 283 "
1327, %);m“ M3 x 0.5-6H, & 9 mm 13_27_ %);m“ M3 x 0.5-6H, ;& 9 mm

220 220

RIEGL VUX-100” £ 5 RIEGL RILOC-F RIEGL VUX-100” £ 5 APX-20 UAV

RIEGL VUX®-100* #1351 fa & BRFERK

S -

160° FOV

160° FOV

RIEGL VUX-100% ##47#1X
££ 5% APX-20 UAV IMU/GNSS #£50
BHFEANFE

160° extra large FOV for wide area coverage

YA R EREERAT i
www.fs3s.com / 010-58076899 / 58076040 / info@fs3s.cn B e

'J‘ ’LASER MEASUREMENT SYSTEMS (=]

Copyright RIEGL Laser Measurement Systems GmbH © 2024- All rights reserved. Preliminary Data Sheet, RIEGL VUX-100%, 2024-09-17
Use of this Data Sheet other than for personal purposes requires RIEGL's written consent.
This Data Sheet is compiled with care. However, errors cannot be fully excluded and altermnations might be necessary. www.fs3s.com



	RIEGL_VUX-100-25_Preliminary-Datasheet_[V]2024-09-17_[M]2024-09-25-1
	页 1

	RIEGL_VUX-100-25_Preliminary-Datasheet_[V]2024-09-17_[M]2024-09-25-2
	页 2

	RIEGL_VUX-100-25_Preliminary-Datasheet_[V]2024-09-17_[M]2024-09-25-3
	页 3

	RIEGL_VUX-100-25_Preliminary-Datasheet_[V]2024-09-17_[M]2024-09-25-4
	页 4

	RIEGL_VUX-100-25_Preliminary-Datasheet_[V]2024-09-17_[M]2024-09-25-5
	页 5

	RIEGL_VUX-100-25_Preliminary-Datasheet_[V]2024-09-17_[M]2024-09-25-6
	页 6




